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POLITICAL SCIENCE
Paper III
Time Allowed : 2% Hours] [Maximum Marks : 150

Note :— This question paper contains seventy five (75) multiple choice questions.

Each question carries two (2) marks. Attempt all questions.
1. The Greek word, Theoria means :
(A) Well-ordered economic structure
(B) Well-organized political system
(C) Focused mental approach

(D) Systematic state system

2. Which one of the following is not related to the resurgence of political
theory ?
(A) Michael Oakeshott (B) Alfred Cobban
(C) Leo Strauss (D) Hannah Arendt

3. Who developed the theory of falsification ?
(A) Karl Popper (B) David Easton

(C) Dante Germino (D) Robert Dahl
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4, Match the following and choose the correct answer from the given codes :

Thinkers Ideas
(f) Lenin (1) Great Leap Forward
(t1) Mao (2) One Step Forward, Two Step Back
Gii) Gandhi (3) Legitimation Crisis
(fv) Habermas (4) Oceanic Circle
Codes :

(A)  O—(3), (i)—(2), GiD)—(1), (iv}—4)
(B) ()—(2), (Gi)—(1), (iii)—(3), (v)—4)
(©) @), ()—3), (i) —2), (v)—(1)
D) —2), (i)—1), Gid)—4), (i0)—3)

5. Who said that the state is the centre of those practical and theoretical
activities through which the ruling class not only seeks to keep its hegemony

but also trieé to justify the same ?
(A) George Lucas (B) Habermas

(C) Max Horkheimer (D) Antonio Gramsci

T.B.C. : 1517/ETIII 4
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6. Which one of the following is a frue statement regarding social justice ?
(A) It is a tool of political activity
(B) It is against the basic principles of equality
(C) It is aequired through rationality
(D) It is the only objective of justice
1. ‘All knowledge is determined by social structure’ is related to :
(A) George Loren — The Concept of Ideology
(B) Karl Mannheim — Ideology and Utopia
(C) Karl Marx — German Ideology
(D) Martin Seligar — Ideology and Politics
8. (A) — According to Aristotle, politics is the master science.
(R) — It provides knowledge to the rulers to regulate pﬁblic life.
(A) (A) and (R) are right and (R) is the correct explanation of (A).
(B) (A) is right, (R) is wrong.
(C) (A; is wrong, (R) is right.

(D) (A) and (R) are right but (R) is not the correct explanation of (A).

T.B.C. : 15/17/ET—III 6



6. THfeF =a & o9y ¥ 79 § J s wuw w2
(A) J§ TeHIfas wE H G B
(B) ¥% woMal % U fagidl $ favg
(C) 4% dhuTd ¥ yIa & ¥
(D) =& =g F THAA 8 7

7 'grw §F 9 SE 3R gifvae g € gefia ¥ e
(A) 1 & — T w9 oife emfedmrst
(B) & Tem — smfedmis iz Fdfen
(C) et oo — wEA eefedmarst
(D) =f&A TR — smfedatst de difafer

8. (A — 3WE B SFER TSR wata fawE B
(R) — J8 ¥ & F&efs Siae &1 Fafma +0 ¥g 96 %o w5 2
(A) (A) R (R) 2H FE T AR (R), (A) = Fd =& B
(B) (A) W& &, (R) To@ 2
(C) (A) T ®, (R) WEl T

(D) (A) AR (R) SF1 ¥ ¥ &R (R), (A) =+ W& =& I8 T

T.B.C. : 15/17/ET—III 7 P.TO,



9. Who said that the legislator is the law maker ?
(A) Machiavelli (B) Austin
(C) .Barker ‘ (D) Bodin
10. Which one of the following is not correct with reference to John Stuart Mill ?
(A) He was the early supporter f’f women suffrage
(B) He was the supporter of open bal-lo't
(C) He was the last supporter of. utilitarianism
(D) He was the founder of libertarianism
11. Which of the following is not a correct match ?
(A) Herbert Marcuse — Modern Analysis of Means of Propaganda
(B) Lucas — Idea of Class Consciousness
“(C) Erich Fromm — Escape from Freedom
(D) Max Horkheimer — Creative Liberty
12.  Who said ‘state is ihstrument, nation is spiritual’ ?
(A) Sri Aurobindo - ® Mahatma Gandhi

(C) Tilak (D) Deendayal Upadhyaya'

T.B.C. : 15/17/ET—III | 8
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13. Which is not true with regard to Mahatma Gandhi ?
(A) State is based on violence
(B) State cannot be abolished under present conditions

(C) Natural contradiction exists between authority of state and liberty of

individual
(D) Objective of State is Sarvodaya
14. Consociational democracy is associated with whom ?
(A) Robert Dahl (B) C.B. Macpherson
(C) Schumpeter (]j) Arendt Lijphart
15. New Humanism was coined by whom ?
(A) Savarkar (B) Mahatma Gandhi
(C) MiN‘ Roy _ (D) Jaya Prakash Narayana

16. Which one of the following statements is incorrect with regard to

Comparative Politics ?

(A) It is both an approach and a subject of discipline

(B) It compares institutions, not structures

(C) It studies, analyses and understands more specific aspects of politics

(D) It helps in arriving at certain general principles of comparison

T.B.C. : 15/17/ET—III 10 :
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17. Who said, ‘A man never steps in the same river twice. He is not the same

man. And it’s not the same river’ ?
(A) Samuel Huntington (B) A.G. Frank
(C) Heraclitus (D) Karl Deutsch
18. Who said, ‘Constitution is what the judges make‘ it’ ?
(A) Justice Cooper (B) Justice P.N. Bhagwati
(C) Justice Burger (D) Justice Marshall

19. Name the last state in the United States that added to the American tally

of states to 50 ?
(A) Hawaii (B) Alaska
(C) Rhode Island . (D) Vermont

20. ‘Firsti Past the Post System’ is the typical feature of which of the

following ?
(A) Parliamentary System (B) Presidential System
(C) Communist System (D) All of these

T.B.C. : 15/17/ET—III 12
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21.

22.

23.

Cantons are the federal units of which one of the following countries ?
(A) Switzerland (B) Sweden
(C) France (D) New Zealand

Match the following and choose the correct answer from the given codes :

@ UK (1) Collegial Executive
(@) USA . | (2) Council of States
(ziz) India (3) Congress

(fv) Switzerland (4) Westminster
Codes :

(A)  @O—(3), (i) —4), (tiH)—(2), (lv)—(1)

(B) (@&)—(3), Gi)—(1), (&ii)—(2), (iv)—(4)

C) @)—4), (ii)f(3), (1i1)—(2), (iv)—(1)

D) @)—2), Gi)—3), (i) —1), (iv)—(4)

Who coined cleavage model of party systems ?

(A) Robert Michels . (B) Maurice Duverger

(C) Lipset and Rokkan (D) Geovanni Sartori

T.B.C. : 15/17/ET—III 14
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24. The Opposition is referred as the Shadow Government in wh.ich one of the

following country ?
(A) UK (B) USA
(C) Switzerland (D) France

25. The principle of separation of powers and checks and balances is associated

with
(A) Abraham Lincoln (B) Montesquieu

(C) Huntington ' (D) David Easton

26. Fish Law is associz;ted with which one of the following :
(A) Law of the jungle (B) Law of the ocean
(C) Fishery law (D) None of these

27. Samuel P. Huntington is primarily known for his contribution to which one

of the following :

(A) Democracy and Democratization
(B) Parties and Party Systems

(C) Institutions and Institutionalism

(D) Government and Governance

T.B.C. : 15/17/ET—III 16
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28.

29.

30.

31.

How many features of political development were listed by Lucian Pye ?

(A) 5 (B) 10

(C) 15 D) 20

Which of the following is not a type of political culture ?

(A) Parochial Political Culture (B) Subject Political Culture
(C) Participant Political Culture (D) Observant Political Culture
Which one of the following is the incorrect pair ?

(A) Iron Law of Oligarchy — Robert Michels

(B) Political Class — Mosca

(C) Governing Elites — J.8. Mill

(D) Circulation of Elites — Pareto

Which one of the following committees was not constituted by the Constituent

Assembly ?

(A) Drafting Committee

" (B) Provincial Committee

(C) Steering Committee

(D) Advisory Committee on Citizen Rights and Duties

T.B.C. : 15/17/ET—III 18
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32. Which of the following was attributed to the Constitution of India in its

formative period ?

(A) Bag of borrowing

(B) Lawyers’ Paradise

(C) Federal in form, Unitary in spirit
(D) All of the above

33. Find the incorrect pair in terms of the features adapted from other

constitutions :

(A) Directive Principles of State Policy — Irish Constitution
(B) Fundamental Duties — Former Soviet Union

(C) Concurrent List — Australia

(D) Judicial Activism — USA

34. Which one of the following Fundamental Duties was added to the
Constitution of India in 2002 ?

(A) It is the duty of parent/guardian to provide opportunities for education
to the child from the age of 6 to 14 years.

(B) It is the duty of the State to provide opportunities for education to the
child from the age of 6 to 14 years.

(C) It is the duty of the Government to provide opportunities for education
to the child from the age of 6 to 14 years.

(D) It is the duty of all to provide opportunities for education to the child
from the age of 6 to 14 years.

T.B.C. : 1517/ET—III 20
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35. .

36.

37.

38.

Which of the following was added to Directive Principles of State Policy ?
(A) Free Legal Aid

(B) Lok Adalats

(C) Protection and improvement of Environment

(D) All of the above

Which one of the following is the contribution of Indian Parliamentary

System ?
(A) Zero Hour (B) Question Hour
(C) Joint Session (D) Adjournment Motion

Which of the following articles deal with the power of judicial review as exercised

by the Supreme Court and the High Courts ?
(A) Articles 32 and 227 (B) Articles 32 and 226
(C) Articles 13 and 32 (D) Articles 13 and 226

Which of the following Commissions is not related with centre-state

relations ?
(A) Rajmannar Commission (B) Punchhi Commission

(C) Benerjee Commission (D) Sarkaria Commission

T.B.C. : 15/1T/ET—III 22
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39. Which of the following best describes the contemporary nature of Indian

Federalism ?

(A) Quasi-Federalism

(B) Cooperative Federalism

(C) Competitive Federalism

(D) Cooperative and Competitive Federalism

40. Match the following and choose the correct answer from the codes :

Subject Article
() Union Public Service Commission (1) 315
(zz) National Comrﬁission for SCs and STs (2) 338
(iii) Finance Commission | T3 280
(tv) Election Commission (4) 324
Codes :

(A) (@)—(1), (i1)—(2), (iti)}—(3), (iv)—(4)
(B) (1)—(4), (i)—(3), (Hi)—2), (iv)—(1)
(C) (@)—2), (Gi)—(1), (@ii)—3), (iv)—(4)

(D) ()—(2), i)—(1), (iii)—(4), (lv)—(3)
T.B.C. : 15/17ET—III 24
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41. What does the term PESA denote in rural governance ?
(A) Panchayats Extension Suffrage Act
(B) Panchayats Extension to the Scheduled Areas Act
(C) Political Extension of Scheduled Areas
(D) Potitical Executive of South Africa

42. Which one of the following is not the essential condition for a political

party to be recognized as a state party ?

(A) If a party gets six percent of the total valid votes polled in the election

to the legislative assembly of a state.

(B) If a party sends at least two elected members to the legislative assembly

of a state.

(C) If a party gets six percent of the total valid votes polled in the election

to the Lok Sabha from that state.
(D) If a party sends at least two members to the Lok Sabha from that state.

43. Which of the following was not the component of Janata Parivar that

formed government in 1977 ?
(A) Bharatiya Jana Sangh (B) Praja Socialist Party

(C) Congress for Democracy (D) Bharatiya Lok Dal

T.B.C.: 15/17/ETIII < 26
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44,

45.

'46.

Who among the following is not associated with the issues of the

farmers ?
(A) Sharad Joshi (B) Mahendra Singh Tikait
(C) Datta Samant ' (D) Bhupinder Singh Mann

Who used the term ‘dominant caste’ .?

(A) . Lloyd Rudolph and Susanne Rudolph

(B) M.N. Srinivas

(C) Rajni Kothari

(D) Partha Chatterjee

Which .of the following is not true with regard to the ‘Study of
Administration’ ?

(A) It is an essay written by Woodrow Wilson

(B) It is based on politics-administration dichotomy

(C) It is the beginning of public administration as a discipline

(D) Public Administration is part of politics
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44,

45.

46.

e # § w9 feum g8 @ dag T8 % 2

@) W I ®) W fiE féa
(C) & |EHd D) sz fig =M
‘guret wifa’ vSEet @1 gam fewR R ® 2

(A) w8 FEeF AN GIT TEEH

(B) TAT. #ifar

© W

(D) gt T

‘wE A wefafrey’ & dey A wd adE § 2

(A) =TT 330 fooam g fafea & se@ &

(B) ¥& USHITG-YImEd $a9E T i §

(C) 98 % faug & &9 ¥ ol YemEs & 3Ry &

(D) o WIEA TSI % TH 9§
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47. Formation of class according to Weber is based on :
(A) Education and Skill (B) Property
(C) Race (D) Religion
48. Who coined the acronym, POSDCORB ?
(A) Dwight Waldo (B) *Herbert Simon
(C) Luther_Gullick (D) Henry Fayol
49. Who developed theory X and theory Y in Public Administration ?
(A) Douglas McGregor (B) Elton Mayo
(C) Chris Argyris (D) Peter Sorenson
50. Oil and Natural Gas Corporation (ONGC) is an example of :
(A) Line Agency (B) Staff Agency

(C) Auxiliary Agency (D) All of these
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47.

48.

49.

50.

S @ AR o Pt sefa ¥

(A) .ﬁ-;g:ﬁ T W B) @
(©) onfa ) 7
e iR S W e 7

(A) =IRE areE | (B) e WREA

(C) N Tfaw D) T BAE

ek e H e fagm iR 9 fugih @ faewmedl s € 2

(A) TTEE HEIR (B) Ueed #4

(C) Ty smumsy (D) e 9

9 @ yfor W frm (S wEshE.) semw ® e

(A) TF = (B) =% 3fyapio

(C) Tegs AT (D) & g
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51. Match the following theories and thinkers :

Theories
(7) Classical (1)
(zi) Scientific Management (2)
(ii.i) Human Relations (3)
(fv) Decision Making (4)
Codes :

(A)  ()—(2), (ii)—(3), (iii)—(1), (iv)—(4)
(B) @)—1), )—(2), ()—(3), (iv)—(4)
(C) ()—2), (1) —(1), @i)—3), (v)—(4)

D) @)—2), Gi)—(1), Gii)—(4), (Gv)—(3)

Thinkers

Elton Mayo

Henry Fayol

F.W. Taylor

Herbert Simon

52. Who is considered the father of Panchayati Raj System in India ?

(A) Ashok Mehta : (B)

(C) G.V.K. Rao (D)

Balwant Rai Mehta

L.M. Singhvi

53. Which of the following articles of Indian Constitution deals with dismissal

and removal of person in civil service ?
(A) Article 311 (B)

(C) Article 360 (D)
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51. = fogml o fasns +1 foom s .

(i) TR ~ (1) T 546

(i) TMIFE FEE (2) T whE
(iii) WP e , (3) ThEE ¥om
(w.) feofg Famfor (4) =2 WEHA
Hebd e :

(A) (1)}—(2), (D) —(3), ({ii}—(1), (iv)—(4)
(B) (i)—(1), (ii)}—(2), (ii1)—(3), (iv)—(4)
(C)  ()—(2), (i)—(1), (iii);(3), (tv)—(4)
(D) (0)—(2), Gi)—(1), (ii)—(4), (iv)—(3)

52. 9d # Y9Ed S 9F F1 99F w9 "E s 2

(A) 379l HeEdl (B) =oiad T HEal

(C) wtaEt=®. 1= (D) TA.TA. fguE

53. ﬁammwﬁmmmﬁaﬁaﬁmaﬁrmﬁﬁ%% ?
(A) @R 311 | (B) #=% 370
(C) =% 360 (D) eg=" 343
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54.

55.

56.

57.

Who was the chairperson of the Second Administrative Reforms

Commission ?
(A) Jaya Prakash Narayan (B) V. Ramachandran
(C) Veerappa Moily (D) A.P. Mukherjee

The First Minnowbrook Conference in 1968 was held under the

patronage of :
(A) Vincent Ostrom (B) Dwight Waldo
(C) Richard Mayor (D) Timmy Bailey

By which of the following Acts, the Imperial Services were split into All

India Services and Central Services ?

(A) Indian Council Act, 1892

(B) Indian Council Act, 1909

(C) Government of India Act, 1919

(D) Government of India Act, 1935

Which of the following is not the principle of’ promotion in organization ?
(A) Seniority (B) Ability

(C) Seniority-Ability (D) Probity
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54.

55.

56.

57.

fodta yemafs gur omdm & siay 9 2

(A) S YT ARED (B) &1 HE=SA

(C) droq Higeft . (D) Y. yEsi

1968 H wod fyfiags e fergs Wmaw § amafyg fear mr 2
(A) fadz ==y . (B) T@TEE aTeE
(C)ﬁ'aéfm (D) fe=ft &

fr= 4 @ fem sfufem gu woiifae daei 1 ofes wrda daei @k 35
@maﬁﬁﬁmﬁmw?

(4) vRda 9Reg wAfafam, 1892

(B) wida ufwg sfafra, 1909

(C) wra A sHfufEy, 1919

(D) ¥Ra wEE fufEm, 1935

e 7§ ded § wrw wWefa #1 fem oaE § 2

(A) aftsa - (B) A

(C) aftssar-draar (D) w3
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58.

59.

60.

61.

Which of the following countries has a collegial executive ?

(A) India (B) Switzerland

(C) USA - M) UK

‘Kleptocracy’ is a system of :

(A) Military Governance - (B) Good Governance

(C) E-Governance (D) Non-Governance
Government program ‘Sarkar Aapke Dwar’ deals with :

(A) Education of children (B) Protection of girl child

(C) Addressing public grievances (D) Providing rural employment

Which of the following thinkers is not associated with the International

Conflict Resolution theory ?
(A} Johan Galtung (B) William Zartman

(C) Morton Deutsch (D) Morton Kaplan
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58. fm1 # @ fm 2y & wgar wsf sriwfas & 2
(A) wrd (B) faeswe=
(C) 7T D) F.&.
59. ‘oRIeRRdl’ SgeEen ¥
(A) #ffw T H (B) |IEA i
(C) 3-TrEA W (D) owmEA &
60. W HEFT 'THR ATH R’ TEHT T
(A) .am foran (B) iferrr farg] wxamm
(C) v fohrEd gar (D) T ISR W& HTA
61. ﬁnﬁ@r%maﬁﬁgﬁwﬁa&ﬁaﬂmmaﬁéﬁmaﬁ%?
(A) M e (B) f%rw.méﬁa

(C) A = D) HE FeH
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62. Match the following and choose the correct answer from the given codes :

Authors Books
(z) Jagdish Bhagwati (1) Globalization and its Discontents
(iz) Daniel Bell (2) The Political Economy of

International Relations

(iit) Joseph Stiglitz (3) In Defence of Globalization
(iv) Robert Gilpin (4) The End of Ideology
Codes :

@) (—@), @)—(1), (iii)—(3), (iv)—(4)
(B) ()—(3), (1)—2), (L) —(1), (v)—4)
(C)  ()—(83), Gi)—(4), (i) —(1), (iv)—(2)
D) ()—(3), Gi)—(4), (i) —2), (v)—(1)
63. Which of the following is true with regard to ‘Détente’ ?

(A) Beginning of Cold War between the United States and former Soviet

Union
(B) End of Second World War between the Axis and the Allied powers
(C) End of Cold War and the disintegration of former Soviet Union

. (D) Thaw in tensed relations between the United States and former Soviet,

Union during the Cold War
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62. = =1 faam Fifsd qa 2 @ T FPa g A wE W I

[eeE
() SR e

(i) =faa s«

(i) w fenfas
(lv) a2 Trefus
Hehd Qﬁi :

(1)

(2)

(3)

4)

(A)  (D)—(2), (i)—(1), (Gii)—(3), (iv)—(4)

(B) (1)—(3), (1)—(2), (iTi)—(1), (iv)—(4)

(C) @B)—(3), (ii)—(4), (iii)y—(1), (iv)—2)

D) - @)—3), @)—4), ({ii)—(2), (iv)—(1)

63. T § & = ‘Sa@’ & Hauw H @ § 2

qdsh

TEETESE U 32 femre=y
T Uffafesar @A oAfe Zerwma
e

7 fedy e TelEemEsRE
T Ug 3% sefedmrsi

(A) T g R yoyd Wifgad €9 & wg vi| g3 w1 9Ry

B) gt T AR i wd & wen fda fave g5 oW o

(C) ¥fd g =1 3id R yagd Sfeaa 9= @1 faued

(D) ¥id g5 & SRA 69 99 SR Yayd Wifaad §9 & 99 aaage gadi §

g2
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64. World Trade Organization was created as a result of :
(A) Uruguay round of negotiations
(B) Doha Development Agenda
(C) Bali negotiations
(D) -Copenhagen negotiatioﬁs

65. India’s rejuvenated ‘Act East Policy’ focuses on promoting economic

.cooperation,' cultural relations and strategic relationship with :
(A) ASEAN nations

(B) Japan and Australia

(C) Republic of Korea and Myanmar

(D) All of the above

66. India-Japan Agreement for Cooperation in the Peaceful Uses of Nuclear

Energy entered into force on :
(A) 20 July 2016 (B) 20 July 2017

(C) 20 June 2016 (D) 20 June 2017
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64. fava =aum Wmed w1 scafe ofoms ¥ .
(A) S®E TR @ &
(B) <@ fEm e
(C) et amal
(D) HITATH aal =
65. W@ F THAfE ‘qd @ A suiE wedm, Gt w6y SR wmRE gad
% Toagd W Hfgd § o
(A) afEEm T
(B) = &R anefesn
(C) wifen TR SR R
(D) =uda g
66. TN TS & wifagel ITAT ¥G GRA-SIOM Hedm WY wEEd g
(A) 20 FomE 2016 F () 20 T 2017 F

-

(C) 20 I 2016 =i . (D) 20 5 2017
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67. Which of the following statements is true ?

(A)

(B)

(C)

(D)

Recently India voted in favour of a UN General Assembly resolution

rejecting United States recognition of Jerusalem as the capital of Palestine

Recently India voted against a UN General Assembly resolution

rejecting United States recognition of Jerusalem as the capital of Israel

Recently India voted in favour of a UN General Assembly resolution

rejecting United States recognition of Jerusalem as the capital of Israel

Recently India voted against a UN General Assembly resolution

rejecting United States recognition of Jerusalem as the capital of Palestine

68. The headquarters of International Solar Alliance is located at :

(A)

(C)

Paris (B) Haryana

Marrakech (D) Bali

69. Mediation, Conciliation, Adjudication and Arbitration are methods of :

(A)

(B)

(€)

(D)

Collective Security
Balance of Power
Peaceful Settlement of Disputes

None of the above
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67. i A s s @A © ?

(A)

(B)

(€)

(D)

o & H 9Ra F Ggad U HeraH WEE # SgE U 5R IEvey # e
F1 TIYET F T ©GE FA & w9dT # waem A

A & H YR A GgEa U WYl YEE # §9E U9 g AE9eH Y 3SEd
F T F MR ©E S F fww § wwem fee

A B H YRG A 9gFa U HREY WS H 9UEd U g ISV i 3SEd
F TAYHT & "G ©E F H 9udH H "agHE e

7§ H 9Ra A HgEd U2 HRE WaE 3 9gEd T g GEved &1 e
TS F TR W w0 R oy § weer fEe |

68. S dR T wedy @ gEgeg fum ®

(A)

(C)

aRE A (B) efamn #

&y | no (D) st §

69. Hemwyql, UM, sfufyofa o faamm fafual § .

(A)

(B)

(C)

(D)

Hrfed WA wl

vifd |Jed i

faadi =1 wifoqol wmem =t
IF H H FE AR
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70.

71.

72.

Which of the following does not constitute one of the six principles of Hans

Morgenthau ?

(A) Political leaders think and act in terms of interest defined as power
(B) Realism is based on gbjective laws that have roots in human nature
(C) Realism regards man as a spiritual b.eing

(D) Abstract moral principles cannot be applied to pelitics

South Asian Association for Regional Cooperation (SAARC) was founded in

which year ?
(A) 9 December 1985 (B) 8 ]jecember 1995
(C) 9 December 1995 (D) 8 December 1985

Partial Test Ban Treaty signed in Moscow in 1963 prohibits nuclear

weapon tests in :

(A) Atmosphere, on ground and outer space only
(B) Atmosphere, under water and on ground only
(C) Atmosphere and under water only

(D) Atmosphere, outer space and under water only
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70. = H @ FRW F 59 WO ¢ D oo d 99 W@ % 2
(A) TR VR @ w9 whefia fed ® w9 # g eR o w E

(B) umﬁaﬁ@ﬁﬂﬁ%ﬁuﬁmaﬂmﬁﬁ%aﬁﬁwmﬁuﬁ

Eicil
(C) =edae AT # UF AeAfead &dl & ®©F § FAal ©
(D) od Afew fagr &1 ToEfa § @ T e S owwa
71.  <few ufyen &5 wedm gMed (Weh) few oY wfed femn 2
(A) 9 femm=r 1985 (B) 8 fg@=i 1995
(C) 9 fegmt 1995 (D) 8 fewraw 1985

72. 1963 # Heh! # weaaia niforr gl wigey Gy sofas efaard & adiem &

yigafaa F §

(A) Hga ggHSd & Has AR 98I HEE H
B wuw e # G o s
(C) Had 9gHed iR I=wa §

(D) FId IgHSA & =8d AHEN AR FA<wa H
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73. Who coined the term ‘smart power’ among the following ?

(A) Hedley Bull (B) Joseph Nye

(C) Cynthia Weber (D) Chris Brown

74. Narendra Modi became the first Indian Prime Minister ever to visit which

one of the following nations :

(A) Mongolia (B) Israel

(C) Palestine (D) All of these

75. Who authered the famous treatise on International Relations, The Twenty

Years Crisis : 1919-1939 ?

(A) Henry Kissinger (B) Kenneth Waltz

(C) Alexander Wendt (D) E.H. Carr
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73. A ¥ 'R U vsEet & W e FH § 2
(A) ®=d g (B) <% 3
(C) fafrem dan (D)ma@
74. s O frE 9 @ R U &Y AN S 9 WG & 9eW qurEEsl § 2
(A) wfern (B) w=EA
(C) fwrfered (D) = Bt

75. IS gedHl # wEs =, ‘T TR 3Ed EwRMEE : 1919-1939° & TEE

FAE ?
(A) &0 fRfa=R (B) HAY IS
(C) TeEEl 9= (D) iTH. &R
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